
No part of this publication may be reproduced or translated,
even in part, without prior written permission from WITTUR.

© Copyright WITTUR 2015

Subject to change without notice!

URL: http://www.wittur.com
e-mail: info@wittur.com

Code
Version
Date

AM.2.003583.EN
0

01.09.2015

INSTALLATION INSTRUCTION

Hydra EVO Typ.43-41

http://www.wittur.com
http://www.wittur.com


Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
1.43



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
2.43

3
4

5
6

Hammer drill
ø 6mm
ø 13mm

Iron drill
ø 9mm

3mm
5mm
6mm
8mm

s = 8mm
s = 10mm
s = 13mm
s = 17mm
s = 19mm

s = 8mm
s = 10mm
s = 13mm
s = 17mm
s = 19mm

1/2”

All screws used for the assembly of our product are screwed by means of a tightening torque as
shown on following table:

Screw Max torque (Nm) Min torque (Nm)
M3 1,1 0,9
M4 2,6 2,1
M5 5,1 4,1
M6 9 7
M8 21 17
M10 42 34
M12 71,4 57,1

In case of need please refer to above table.

Plumb

3mm
5mm
6mm
8mm



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
3.43

IDENTIFICATION OF HYDRA LANDING DOORS MAIN PARTS

Ty 43-41GENERAL DESCRIPTION
1. Frame
2. Mechanism
3. Panels
4. Sill
5. Toe Guard

1

2

4

5

1

2

4

5

3

3



20

14

90

SP
CH

A

15

Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
4.43

1. PREPARATION
1.1. Relevant Dimensions

B

H 
= 

CH
+S

P+
20

B=CO+SF+SB+40

SB CO SF

TK
F+

25
A

IP=CO+SF+SB

F.F.L.

CL

RELEVANT DIMENSIONS
1 Plumb Line
A Distance from Plumb Line to hoistway wall
B Width of wall cutout for landing
CO Clear Opening landing door
IP Total width of door front 
SB Width of door frame (1 = left)
SF Width of door frame (2 = right)
H Height of wall cutout for landing
CH Clear height of landing door
TKF Distance between edge of sill and

guide rail axis
CL Center Line
F.F.L. Finished Floor Level
SP Width of door head frame

Ty 43-41

OPENING
TYPE

110

A MIN

150

A MAX

1

25
-3

0 A

25
-3

0 A

A Min.

A Max.

1 1

Ty 43-41

SP= 269

Ty 43

222

Ty 41



Ty 43-41

Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
5.43



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
6.43

CO

ZZ Z Z

Y1 Y1

23 23

X1 X1

Y1

X1

Y1

X1

==

F.F.L.

CL

CO

23 23

Y

X

Y

X

==

Z Z
F.F.L.

CL

Ty 43-41

CO
700
750
800
850
900
950
1000
1050
1100
1150
1200
1250
1300
1350
1400
1450

X
290
315
340
365
390
415
440
465
490
515
540
565
590
615
640
665

Y
247
272
297
322
347
372
397
422
447
472
497
522
547
572
597
622

Z
270
295
320
345
370
395
420
445
470
495
520
545
570
595
620
645

CO=700÷1450

CO>1500

CO
1500
1550
1600

X
690
715
740

Y
647
672
697

X1
355
367,5
380

Y1
312
324,5
337

Z
355
347,5
360



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
7.43

1008243A02

(3x)

ø13

1

1

M12x110

Ty 43-41



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
8.43

1

1

2
3

(6x) M12x25

(3x) M8x16

1008244A01
(3x)

(3x)

(3x)
(3x) (3x)

(6x)

(6x)

(6x)

M8

M8x16

M12

M12

M12x30

4

Ty 43-41

1

2

CO/2 CO/2



Ty 43-41

Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
9.43

1

4

2

3

M8x20

(6x) M8x20

(4x) M8x20

1

(2x) M8x20

(2x) M8x20



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
10.43

1

2

(1x) M6x12

(1x) M5x25

M5x25
M6x12

Ty 43-41Ty 43-41



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
11.43

(5x) M4x12
1008119A01

Ty 43-41



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
12.43

= =

CH

CO

CLF.F.L

1

ø6

2

4

3

STANDARD

M6x40

1008242A01

(2x)

Ty 43



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
13.43

= =

CH

CO

CLF.F.L

1

ø6

2

4

3

STANDARD

M6x40 1008242A01

(2x)

Ty 41



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
14.43

= =

CH

CO

CLF.F.L

1

ø6

2

4

3

M6x40

1008242A01

(2x)

Ty 43

EN 81-58



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
15.43

= =

CH

CO

CLF.F.L

1

ø6

2

4

3

M6x40 1008242A01

(2x)

Ty 41

EN 81-58



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
16.43

Ty 43

CO-160

=

=

1004924A01

110-150

CO=700÷1150

(4x) M8x16



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
17.43

CO-160

=

=

=

110-150

CO=1200 1600 and CH=2000 2200

(8x) M8x16

Ty 41

(4x) M8x16

CO>1500

1004924A01
CO=1200÷1450

N° 2 1004924A01
CO=1500÷1600



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
18.43

CO-160

120

=

=

=

120

N°2 1004924A01
CO=1200÷1450

N°3 1004924A01
CO=1500÷1600

110-150

CO=1200 1600 and CH=2250 2400

(12x) M8x16

Ty 41

(8x) M8x16

CO>1500



Ty 43CO=700÷1150

Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
19.43

CO-160

=

=

90-110

1004924A01

(4x) M8x16



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
20.43

CO-160

=

=

=

1004924A01
CO=1200÷1450

N°2 1004924A01
CO=1500÷1600

90-110

CO=1200 1600 and CH=2000 2200

(8x) M8x16

Ty 41

(6x) M8x16

CO>1500



CO-160

120

=

=

=

120

Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
21.43

90-110

CO=1200 1600 and CH=2250 2400 Ty 41

(6x) M8x16
(12x) M8x16

CO>1500

N°2 1004924A01
CO=1200÷1450

N°3 1004924A01
CO=1500÷1600



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
22.43

1

2

1

1004926A02

Ty 43



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
23.43

1

2

1

1004926A02

Ty 41



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
24.43

(2x) M12x30

M12x110

1

1008235A01

ø13

2

1008243A01

(2x)

3

Ty 43



Ty 41

Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
25.43

CO=1200 1600 and CH=2000 2200

1008235A01
CO=1500÷1600

1

CO>1500
(2x) M12x30

1008235A01
CO=1200÷1450

(4x) M12x30

M12x110

ø13

2

N°2 1008243A01
CO=1500÷1600

(4x)

1008243A01
CO=1200÷1450

(2x)

3

CO>1500



(6x) M12x30

N°2 1008235A02
CO=1500÷1600

Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
26.43

Ty 41CO=1200 1600 and CH=2250 2400

N°2 1008235A01
CO=1200÷1450

1

CO>1500

(4x) M12x30

M12x110

ø13

2

N°2 1008243A02
CO=1500÷1600

(6x)

N°2 1008243A01
CO=1200÷1450

(4x)

3

CO>1500



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
27.43

>65

N°2 1008236A01

1

2

3

(8x) M8x16

6

Ty 43-41

5

4



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
28.43

37 37

3737
37

37 37

37

43

36 36

43

43

36 36

43

EN81-58

2

STD

Ty 43-41

Ty 43-41

1
3 4

2 1
3 4

2 1
3 4

2 1
3 4



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
29.43

1014825A01

+10

-10

Ty 43

(8x) M10x20



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
30.43

N°2 1008237A01

+10

-10

(8x) M10x20

Ty 41



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
31.43

5 mm

1

3

>=4 ÷ <=6 mm

1
2

5 mm

2

5 mm

Ty 43-41

3
4

4

5 mm



1008237A01

Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
32.43

X=5(min 3
max6 )

X X

(1x) ø9

1

Ty 43-41

2



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
33.43

Ty 43-41

Ty 43-41

~3

STANDARD
EN 81-58

~3

STANDARD
EN 81-58
BS476



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
34.43

3

3

1/3

00

Ty 43



1-3

00

1-3

3+1 -2

Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
35.43

Ty 41



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
36.43

10 10

30 20

10 10

A

120

22

60

= =

A=90

Ty 43

Ty 41

Ty 43-41

A=165 A=165



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
37.43

0

+10

+10 -10

Ty 43



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
38.43

0

+10

+10 -10

Ty 41



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
39.43

N°1 1008238A01

A 
=

 7
90

Ty 43CO<800



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
40.43

N°2 1008238A01

A 
=

 7
90

Ty 43CO>800



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
41.43

N°2 1008238A01 Ty 41

EN 81-58

STANDARD A 
=

 7
90



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
42.43

(2x) M5x16

Ty 43-41



Subject to change without notice!

HYDRA EVO TYP.43-41 - INSTALLATION INSTRUCTION Code
Version
Date
Page

AM.2.003583.EN
0

01.09.2015
43.43

1008245A01

X

1

2

X

(3x) M5x10

M5x10

M5x10

(2÷3) x M6x10

(2÷3) x ø6x40

ø6

(2x) M6x40

CO>1050

1008245A02

(4x) M5x10(3x) M6x40
(2x) (3x)

M5x10

Ty 43-41


